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HET - I (PART - 1)
SIA foRpre 9 RN (CHILD DEVELOPMENT AND PEDAGOGY)

%r.'ﬁ%mﬁimﬁfﬁﬁvﬁwmﬁawgﬁm

Direction : Answer the following questions by selecting the most appropriate option.

L Feffee & @ @9 dvem o
RS 3 o1 AT R R
T TR ¥ ?

(1) SreTETlienTor
(2) TS 0T
(3) Gidfep
(4) T

e & & f9-ar W a0 5o

oo

(1) 999 g erfte
2) R s

(3) F9g A

(4) e St

frifoiaa & & f-a ke e
P SR T § 7

(1) areed wfafy

(2) g SafE

(3) 1 Hiaty

(4) 9T st ,
SRR feafs Bw & egER
et e R A R 7

(1) 52867  (2) 369 51

(3) 208435 (4 2087

i

|2
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1. Which of the following concept is
not introduced by Jean Piaget in his
Cognitive Development theory ?

(1) Assimilation

(2) Accommodation
~(3) Symbolic _

(4) Equilibration -

2. Which of the following is the highest

level in hierarchical theory of
learning given by Gagne ?
A1) Problem solving learning
(2) Principle learning
(3) Concept learning-
(4) Multiple discrimination learning

3. Which of the following is the non
_projective technique of personality
measurement ?

(1) Association technique
 (2) Sociometric technique

(3) Construction technique
A4) Completion technique

4. According to Stanford-Binet 1Q
scale, what is the IQ range of low
mentally retarded children ?

(1) 52to 67 (2) 3610 51
(3) 20te 35 (4) below 20

P.T.0.
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(l)aﬁﬁwﬁwﬁﬁww

SEigotci
(2)aﬁrﬁﬁamawﬁ1awm%l

(3) IO Z@ER & wHR weR

BNt

(4) AR T F et afRefei
. B R |

g 7

(1) %t 78
(2) Herg

3) B AR
(4) Stto &= BT

Pl ¥ @ A @ g
1 Rl & o 3 7

[~

joo

(1) Wﬁrmaé‘i‘cﬁ%i

(2) Hevfr sga w2k Y
(3) geEfT e Bl B
(4) AR TS @A &
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3.

=

A2) Motivated

Lz

o

Which of the I’bllowing structure of
mind according 1o
Hedonistic and pleasure principle ?
(1) Id (2) Ego

(3) Super Ego +«4) Choleric

directed

Which of the following is the false

characteristic of motivation ?

(1) In motivation, behaviour of
person is goal orient;—id. :

behaviour - docs
continuity.

(3) Nature of motivated bchavmur is

- rigid.

(4) Motivation does energy changcs

in human beings.

Who was the
Anticipatory theory of play ?

(1) Karl Groos
(2 McD’ougalI

(3) Herbert Spencer
(4) G. Stanley Hall

propounder  of

Out of the following which one ig
-the wrong statement in context. of
“characteristics of instincfts ?

(1) Instinct is innate.
(2) Instinct is very powerful.
(3) Instinct is ephemeral.

(4) Instinct s

psycho-physi'cal
disposition, '



9. T FBoE FE & “Rosivmawr o,

qd, THE T G orawey B 2
(1) fafeem weo o

(2) W &

(3) Slo To BEWiE

) S R n

AT R & e @ &
(1) Sio dto qregq

) foe goe
(3) v wae

" (4) Sfo THo Few

ﬁwﬁ%ﬁﬁzﬁmw&waﬁa
F fom 3 def § S= Sa EW
gt oot § @ 78 & 7

(1) Srafspa @7 @1 =T
(2) F9E H A0
(3) AT T
(4) UOREH =R & ATET

_.l T g qderer e s ?

(1) qdex

- (2) FEA

(3) SHI~ad e
(4) orbe fom ol g
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9.

10.

12,

(Cl
Who stated that "Adolescence is a period
of stress, strain, storm an'd strife" ?
(1) William H. Barton
“(2) Stanley Hall
(3) J. A. Hadfield
(4) Jean Piaget
Who was the propounder of psycho-
analytical method ?
(1) J. B. Watson
(2) Wilhelm Wundt
A3) Sigmund Freud
(4) J. M. Cattell
Which one of the following stage is

not prescribed by James Draver in

the context of development of

character ?

(1) The stage of crude emotion

(2) The stage (;f sentiment

(3) The self regard stage
44) Conforming conventional stage
Who developed the first intelligence -
test ?

(1) Lavator

(2) Sanguin

(3) Francis Galton

~44) Alfred Binet and Simon
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(1) ST™ o ufpr & 9 75 s
(@g@wmmﬂ%a:@maaﬁ
|

(3) M F & s o

(4) TRN & sl Bt 3 ang
B A @R & uRadq
AT A o

4. g & 99 oF dow 3 R

qﬁa&saﬁaﬁfﬁmwﬁmmﬁ'

fehar o1 ?
(1) Ix
(2) ArgH
(3) dArgas
(4) TitEq

15. e & F f9a s
R 78 ¥ ?
(1) g
(3) 9y

CIISET 2 S B I i
nfefaferat & war sy §

@) 7@
(4) faamy

(1) 399 fam
(2) H=m

(3) qug
(4) wETA/as
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13. Which of the following is the false

statement ?
~(1) Learning is a process not a
product. |
(2) Learning process is always
purposeful.
(3) Area of learning is broader.
(4) Behaviour changes  through
instincts and reflex actions are

also considered as learning.

14. Who propounded Brain storming

mcethod for fostering and boosting~
creativity ?

(1) Torrance

(2) Myres

(3) Osborn

- (4) Gordon

@ Which of the following is mor the

innate motive ?
(1) Safety (2) Hunger

(3) Thirst “4) Rest

16. The mental activities associated with
thought, decision making, languagc
and other higher mental processes is
called :

(1) Visual images
+2) Cognition
(3) Concepts

(4) Propositions
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PR § ¥ Pwar oy
qfE N ATaEIE gitehr ¥ ?

(1) G FIER X & i BT ol

(2) s BRreT WRoee 3fead
T Bl

(3) A Teelt W e ¥
(4)553@@3&%‘%“%%%
frfafad & & d9-@ oRd AR
W B T FE R 7

(1) @iafiEs aRued

(2) AL

(3) TS

(4) H AIHT bl AT

frefofeg & @ P9-a1 IFsES: @
Wvﬂﬂlﬁﬁ!@v_ﬂ_%{mﬂm TR ?

(1) IR fhar Rar= '

- (2) AfFH = S R

(3) STt SRR 1 T

(4) TaT9 T Fe @ fasr

Rrfar & o @i & 7
(1) S fo ‘

@ SUH Y
' (3) T AEEEH

(4) FrEATT
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17. Which of the following is behavioural

perspective of modern psychology ?
~“(1) Focuses on overt behaviour.

(2) Focuses on cognitive processes.

(3) Focuses on the biological events.

(4) Focuses on critique of male bias.

18. Which of the following is not the

characteristic of good mental health ?
(1) Emotional maturity
(2) Self confidence

" _A3) Intolerance

(4) Capacity of self evaluation

19. Which of the following is nor the

other name of Thorndike's theory of
Connectionism ?

(1) Stimulus response theéry
(2) Bond theory of learning

A3) Theory of conditioned responsc
(4) Trial and Error theory

20. Who was the founder of socio-culture

theory of cognitive development ?
(1) Jean Piaget
(2) Jerom Bruner

‘{3) Lev Vygotsky

~ (4) Kohlberg
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22. M & & B9-a1 So o s

21. elfe & ¥ fmw dew g

| ) HRINE,

(2) & T &1 e

- (3) §IF S19Ha # fAE
(4) AT & e
e (Fed) 7 & e & 7
12358

(2) 08 49§ .

(3) 16.9 18 af

4) 3 & 10 o

[8]

T Ak & T RdvE @
YHX & 7
(1) gy
(2) e gemy
(3) = g
(4) wicart

a0 e | 3 Rfefe ey $ o
e favaTey 7 w78 ¥

(1) eTpfces
(2) YTt |
(3) HiRferp

FfoRed & § 9o foerg s
% IR fyErl @ Tetag T
i |

(1) AFHh ST = (s
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Which of the following is HoOf the
type of dynami.c trait of personality
given by Cattell ?

(1) Attitude

A2) Urge

(3) Sentiment

o (4) Conservative

22.

Which of the following is rot the type -
of one of the component content

under three dimensional model of

intellect given by J. P. Guilford ?‘

(1) Figural

(2) System

(3) Symbolic

(4) Behavioural

Which of the following theory is not
related with the theories of transfor
of leéming ?

A1) Theory of mental discipline
(2) Theory of rote memory
(3) Theory of identical clements
4) Théo‘ry of generalisation

For which age group the Children
Apperception  Test  (CAT) s
applicable ? '
(1) 2 to 5 yrs.

(2) 0 to 4 yIS.

(3) 16 to 18 yrs.
(4) 3 to 10 yrs.



(1) ARt & 97 F@ R AR
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Which one of the following is not
correct way of releasing pent up
emotional energy ?°

(1) Substitute résponsqs
(2) Displacement

(3) Regression

4) Self pity

A branch of psychology which
studies how people change physically.
cognitively and socially over the
entire life span is kpown as :

26.

(1) Clinical psychology

(2) Counselling psyAfchAo‘Iogy
“(3) Developmental psychology

(4) Experimental psychology

Which of the following is nor the
| characteristic of Adolescence ?

(1) Weight of muscles is 20% of
total weight of body.

(2) Tendency of drcams

increased.

day

(3) Vocabulary too increases.

’

<(4) Mental abijlities reach at their
highest level.
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28. ﬁﬁﬁf@ﬁﬁﬁaﬁw-ﬂrwaﬂaﬁfaﬁ
fagtamett & dedf § 7T T ¥ 7

(1) omed fefie Refy & R @
IRIER ‘

(2) SRA AGHT | e B S
2| S

(3) oTET o8l a¥E § dar wEse ¥

(4) 9RT Fe@ gAM URReRET &3
W &R Bt &

29. Frfeiee & & oM-d afmg ao
P wad oy 78 ¥

(1) sT=% ameed Tl

(2) gz F =R &9 a5
(3) ar= YT wrereT

(4) R Hu=e wler

Fefofea & & @9-m oa 3 o
H @&l ieheh 9 & 7

(1) M — T T - g7 =

Uedr

(2)'g=r:wvr—>‘a¢fmq—>w—>.

VEGIE
(3) M > FF: TR - TEuH —
RO
(4)W9W->gﬂ:w_>
LECIE]

[10]

Out of the following which one is

the wrong statement in contcxt of

characteristics of habits ?

(1) Habit is automatic response 1o
specific situation.

(2) Habit is acquired through
heredity.

5(3) Habit is a well learned
performance.

/(4) Habit is performed only under
similar circumstances.

29. Which of the following is nmof the
type of projective technique of
personality measurement ?

A1) Word Association Test
(2) Woodworth's Personal Data Sheet
(3) Sentence Completion Test
~ (4) Thematic Apperception Test
30. Which of the following is the correct

logical order of elements of memory ?

(I) Learning Recal]

— —
Retention — Recognition

(2) Recall —  Learning —
' Retention — Recognition

(3) Learning - —  Recall s
Recognition — Retention

(4) Learning  —  Retention

Level-3/316

Recall —» Recognition
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9[- 1II (PART - II)
(1%-&1 @ 3idoh) [LANGUAGES (HINDI & ENGLISH)]
Bl (HINDI)

T ¢ AT T @ gaY &7 @ e gag afed ey g

3. P & & @ W g e de-a
37

(1) I + Ret = gfaftex
(2) T6 + ST = AR
- «f) Y + g = ot

(4) TRT + STERY = TAENY

‘e frde Tadr B ST 9 @l
'Eﬁﬁa@ﬁ_w:‘

(1) g Brbe e

) TRA B T8 S B "
(Sjﬂﬁﬁ@fﬁ!@i’@rﬁrwml o
Jﬂ)ﬂﬁﬁ%mﬁ@f@ﬁw%l

32.

(1) wrﬁﬁq R il +a,
(2) arde = i+ 7
(3) Yegd = R +7
(4) fregm = e +4

. Level-3/316

wmﬁrfﬁﬁaﬁ?wﬁw

FGTT R 7

(1) iR — o N BT al

(2) TEHEE — W H @ g W

(3) TagEE — N JH WEE

\g(an@qw—srr@eﬁwwﬁ/éﬁaﬁ
et HJT

36, -G A TIGgEE  HH FH
FEECT & 7
_(x) =o @ R, 58 &8 S
) der & T B ST T T

_(3)13%@?@%1%@1% e gl
STTUH |

(4) o Vre-gHEHT qR

37, fre & § B R @ el B

‘A & 7

(1) =T, JERTT, e

(2) s, T, fae

(4) T, ST, HEA

38, out @ Fffg g=t & w7 HE-E
Rieed SFETT & °
‘(I)Wﬁ—ﬁiﬁ,mﬁﬁm,ﬁw
(2) oy — IGRRT, ORI, STEERTH
@) o — T, IR, A
(4) sy — e, e, S

P.T.O.

35.




[C]

[12]

G@%ﬁﬁ@#&lﬁﬂmﬁﬁﬁw

(l)ﬁn‘@r g

(2) G — goom

(3) X — 7

@Y I — @y

Frefofed oot & oot § fa
e oG &7

(1) T — O, SeuumT, q9iy

(2) § — =, &, SrgaE

(3) ¥ — 3y, 9y, ey

(4) ¥ — Hef=, ST, oTey

41, ﬁwﬁ@mﬁwwﬁq:

) 99 — =g 9 Fi qeaes

-
(2) oot — wdwm ¥ FiT qeaEs
| sl
(3) AR — wrgares d@=1 & Ml
fersteor
(4) ik — ﬁré’rsrw@(ﬁﬁﬁ
| NIECICERGE |

géﬁfgfﬁa@rﬁ?www#
?

(1) Garll geirg 9T — e @ s

FHE
(2) -8 & AT @ T —
ST B TR oSt Bier

(3) SR X P IA — THAH TEN

@) T H G B A% Y P —

43.

45.

q & dad F A B gk
7 B 7
(M@E’@é‘fw%*

(2)?&?11??&%?@%'

— fReaias ag

(3)@%%3@mmcﬁm|

~ smreﬁa%am

(4)%?:%’%@&@@@%

— H3ards g
44. TSI B I { omTT FH YT

(1) TMEm — T =
(2) ThEEH — BT U
(3) g — g U=

{4) Tedide — T I=

%wg's'ﬁt@rﬁﬁ SIEAIES Mok
O

(1) 99 B ¥ T

@) @ T g e § g
(3) i @ &

(4) JEER T g

- RIS @ FHSIR B
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3l (ENGLISH)

. Direction : Answer the following questions by selecting the most appropriate option.

46,

—_—

41.

Select the correct tense form :
The car (belong) to my mother. She
(use) it today to take Tom to the
dentist.
(1) belonged, is using
(2) belonged, using
(3) belong, used
4) belongs, is using
Select the correct infinitive form of
the given sentence :
Seeing is belieéving.
) To see is to believe.
(2) Seen is to believe.
(3) To see is believing.
(4) Seeing is to believe.

Choose the option which has error in
it '

{4) You should

(B) tell to me

(C) exactly what

(D) happened there

0 A £ B

3) C (4) D

49.. Change the following sentences into
Reported Speech by choosmg the

correct option :
"We're waiting for the school bus,"
saidthe children, "It's late again."

(1) The children told they'te waiting
for the school bus and it is late.

(2) The children said they were

waiting for the school bus and it
is late.”

Level-3/316
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50.

[C]

“3) The children wmpldlmd that
they were waiting for the school
bus and it was late again.

(4) The children complained that
they were waiting for the school
bus and it is late.

Select the correct preposition to fill
in the blank :

"He broke the jug ...... a hundred
pieces.

(1) in tZ) into

(3) over (4) about

51. Change the voice from Active o

Passive. Choose the right option :
We shall discuss the
tomorrow in the meeting. )
1) The question will be discussed
tomorrow in the meeting.

question

- (2) We  will be discussing the
question  tomorrow in  thc
meeting.

(3) We shall be discussing fomorrow
the question in the meeting. |
M The question . shall discuss
tomorrow in the meeting. |

Select the correct meaning of the
underlined phrasal verbs :

I cannot make out the meaning of
this verse.

(1) discovery "’6) ‘understand

(3) reading (4) start
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3.

35.

Select the correct preposition to fill
in the blank :

They live ........ the same roof.
(1) in (2) before
(3) after ) under

Change the following sentences into
Reported Speech by choosing the
. Correct option.

"If you want to smoke you'll have to

£0 upstairs." said the landlord.

(1) The landlord told him tHat if he
wants to smoke he'll have to go
upstairs,

42) The landlord told him that if he
wanted to smoke he would have
~ to go upstairs.
(3) The landlord said that if he
would want to smoke he would
go upstalrs

(4) The landlord says if you wanted
to smoke you would have to go
upstalrs

Choose the correct form of tense
given in the option : .
She (play) the sitar.since 6 o'clock
- this morning. He just (stop). '
(1). playing, stops
(2) was played, stopping
-3) has been playing, has  just
stopped
(4) have been playing, stopped

Choose the correct meaning of the
underlined idiom :

He is friendly to the minister, he
jumped the queue and got promotion.

(1) replace something

(2) hopping
(3) blame somebody

[14]

Choose one word substitution for the

following :
A word spelt and pronounccd similar
but differing in meaning.

(1) Antonym 2§ Homonym
(3) Synonym  (4) Pseudonym

58. Choose the correct option :

Transformation of sentences : Simple
to Compound

He must work hard to make up lor
the lost time.

(1) He must work hard, cover the
lost time.

(2) Making up for the lost time he
must work hard..

(3) He must work hard and make up
for the lost time.

(& Working hard will make up for
the lost time.

59. Choose the correct option :

Transformation from Simple
sentence to Complex sentence -

A lost moment is lost forever.

..,61’) A moment which is lost is lost
forever.

(2) A lost moment is forever lost. -
(3) Forever a lost moment is lost.

(4) No moment is lost forever.

60. Select the correct conjunctions for

the blanks :

We will come eeeen It raing |
not. .
(1) if, and (2) even, byt

.e(f whether, or .ﬁ()r'either, and

«4) get something out of turn

evel-3/316
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~ 9FT- III (PART - III)
M 3 (GENERAL STUDIES)

#ﬁm ?ﬂ"ﬂlﬁT Ticheh STHERTT ol HAIY ST Q9 SRSTH (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G. K. & AWA.RENESS)

N 75 ot v 2 5 29 2 o ot e

- Direction : Answer the following questions by selecting the most appropriate option.

- 6L,

g et ffyga Yed § 9 * 3 = 36,
10 * 6 =64, 9 * | =25, d 3G Yed
X 23 * 3 9 47 BN 7

(1) 169 (2) 52
(3) 32 (4) 576
ae A Fw o S, B @ o

‘e, C & o ‘siferd, D o
T @, @ Fefefed @ W a=
T BT 7
I8A12C6D2B S5 =

(1) 25 ) 27

(3) 15 4) 17

aR 7 5ed 7 R A 8 W F g
B 8, O 70 d88 70 HREG Fr
7 fra gud TR ?

(1) 897

(2) 560 gU
(3) 56 gU
(4) 70 g9

2 ;5 STUE aeht T der # He-ar

T S :6E W7
(1) 12 2) 11_
(3) 13 (4) 14
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'. In a certain pattern, if 9 * 3 = 36,

10 * 6 =64,9 * 1 =25, then in samc
pattern what is the value of 23 * 3 ?
(1) 169 @y 32

(3) 32 (4) 576

B means 'minus'.
by',
what

If A means 'plus’,
C 'divide
'multiply’.  Then
simplified value of
18A12C6D2BS5 =2?
R 25 (2) 27

By 15 A4) 17

D means
be

means
will

If 7 carpénters. can make 7 chairs in
8 hours, how many hours will 70
carpenters take to make 70 chairs ?

~1(1) 8 hours
(2) 560 hours
(3) 56 hours
(4) 70 hours

Which number must be added to
each term of the ratio 2 : 5, so that it
may equalto 5:6 7

(1) 12 (2) 11

3 13 (4) 14




(1) % 40,000
(2) % 60,000
(3) 80,000
(4) % 1,60,000

66. AN B 91 10% 7 & 39 4 o B
TE CH 0%z F 37 & aR C Y
a_aasrgm%%oamf@r,ﬁrw/x

- T B B ale o ?

(1) 900
(2) % 1,000
(3) 1,200

(4) T 950

67. Rt o] # T7T 20% g oW B, O
A R afem # ol a & s
3HF T d $E g T 8 2

2

Z @) 152%

(1) 162%
3) 17%%. @) '16%%

68. \/2\/2\/2@’ H H R BN ?

(1) 0 @) 2
3) 1 (4) »31/32

Level-3/316 :
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65. A sum of ¥ 10,000 deposited at
s compound interest beqomcs double
after 5 years. After 20 years the |
amount will be :
(1) ¥ 40,000
(2) 260,000
(3) < 80,000
(45 % 1,60,000

66. A sold a watch to B at a gain of 10%
‘and B sold it to C at a loss of 10%. If
C paid ¥ 990 for it, then how much
amount paid by A ?

(1) 900
&7 % 1,000
(3) ¥ 1,200
(4) 3950

67. The priée of any item is increased by
20%7‘ Find the. reduction in the
consumption - of the item by a

consumer so that there is no Increasc
on his expenditure :

Ny 16%% ) 15%%

@3) 17%% R ) 16%%

68. What is the value of V24242 2\5 ?

1) 0 () 2
(3) 1 (4) 231/32

pona G0 CPyloz Lo,
R - ¢

Ve
. [ )D(J'
G’E;—%’p\éw"ﬁ"_



69.

R WAt 132 He) w108 Hiex
T UE-gER & w7 oen @
g Ped @ o @ 9@ 32 Reieee
T gl @ 40 Relvaver B fRA

R T g R FR S ?

(1) 8o

(2) 10 o
(3) 12 To
(4) 11 "o

0.3467 +0.1333 THM &°T :
(1) 0.48

(2) 0.4801

(3) 048

(4) 0.48

11, 11.11, 0.11, 0.011 % HoHoYo
T BRT ?

(1) 0.011

2)-1.1

(3) 0.11

(4) 0.111

2. G o F omIgd oX afedw &

BT & ST BN
(1) 1:4 '
(2) 4:1
3)1:2
4) 2:1

' Level-3/316

69.

[C] /
Two trains 132 meters and 108
meters long are running in opposite
direction, one at the speed of 32
km/hr and another at the speed of 40
km/hr. In what time will they cross

each other ?

(1) 8sec.
(2) 10 sec.
(3) 12 sec.

| (4) 11 sec.

0.3467 +0.1333 is equal to :
(1) 0.48

27 0.4801

(3) 0.48

(4) 0.48

Z1. What is the HCF of 11, 11.11, 0.11.

0.0117?

(1) 0.011

2) 1.1

(3) 0.11

(4) 0.111

The ratio of the areas of the inéirclc
and circumcircle of a square will be :

(1) 1:4-

(@) 41

By 1l.2
4) 2:1



[c)

T & T o
B T it -
Q@ —cdaab — cc —daa — bbb — ceddd
(1) bdbda
(2) bddca
(3) dbbca
(4) bbdac

et ¥ g2 g e

14, FYREE 9o demt fed Riitem

Yo W ier oo weER Rid)
& B 96 e @ i ok g

g T (v Rrgd) s iR
6 11| 25
8 6 16
12 5 ?

(1) 18 2) 16

3) 12 (4) 10

HEAT NG H T G5 S HIOW

127, 128, 136, 163} 227, ......
(1) 352 (2) 350
(3) 357 (4) 341

e R T A J E, @ df &
e ¥ A, B3 gt R 2R E C
% ad AR R awr At ok ¥
B, D % gt X &1 P9-ar oX wHew
qg # 37

(1) A
(3) D

(2) B
(4) E

sevel-3/316

[18]

Find the missing letters in the given

letter series :

a — cdaab —cc —daa =
(1) bdbda

(2) bddca

(3) dbbca

(4) bbdac

bbb — ccddd

The numbers in the following question
numbers are written according 1o
certain pattern row-wisc or column-
wise. Identify the pattern and find

the missing character accordingly :

6 11 25 f
8 6 16 f
12 5 ? J
(1) 18 (2) 16
(3) 12 (4) 10

Find the next term of the number
series :

127, 128, 136, 163, 227.
A1) 352 (2) 350

(3) 357 (4) 34)

76. There are five different houses A 1o

E in arow. A is to the right of B and
E is to the left of C anq right of A. B
is to the right of D, Which of the

house is exactly in the middle 9
o) A (2) B
(3) D 4) E



717. R Mied & § MONKEY %

S 13): 32

XDIJMNL fi@r e, & TIGER
9 fergr s ?

(1) SDFHS

(2) SHFDQ

(3) QDFHS

(4) UJHFS

e S @ @R 10
el ¥ 6 R gl @

9% e 3 R @@ @ el
T 99 T8 W SIS
feperr et e for R H ¥

fepeit
X

.

A

~ &

(1) 5 fet ofyem
(2) 5 Bl ST
(3) 7 el @

(4) 7 = ofyaw

T ¥ 84 B0 I WE 3 A
1797 & e § ofOT W Sfd-aed o

& e 99 @ 148 =M 9X 8 S

Y o ¥ . R e § 7

(2)_ 29
(4) 30

(1327

80. ?:rﬁwssfrlseqwéwaﬁrqﬁm |
T AT, @ FE 1989 § e R wEn

T Y
(1) ®ER ) TR
(3) TeAR (4) TR

Level-3/316
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17.

18.

In a certain code MONKEY is
written as XDIMNL. How is TIGER
written in that code ?
(1) SDFHS
(2) SHFDQ
\()/) QDFHS
(4) UJHFS
Vijay walks 10 km towards North,
from there, he walks 6 km towards |
~ South, then he walks 3 km towards
East. How far and in which direction
is he wifh' reference to his starting
- point ?
&) 5 km West |
{(2) 5 km North-East
(3) 7 km East
(4) 7 km West
In a row of girls, Shilpa is 8th from
the left and Reena is 17th from the -
right, if they interchange their
positions, Shilpa becomes 14th from
the left. How many girls are,there in
arow? |
(1) 27 " -(2) 29
(3) 32 ~) 30
80. If the Independence Day in 1988 was

[C]

celebrated on Wednesday. On what
day was it celebrated in the year 1989 ?

2 Tuesday
(4) Friday

Mohday
(3) - Thursday



[Cc] | [20]

8L T @ fifed AR, RRVREE | a1 Idenify the textftexts, in which the
IR H ST e T reference of Thanesar is found :
() =Ry (i) Harshcharit
(i) Za =T % T g (i) Travelogue of Yuvan Chang
(ii1) ey (iii) Kadambari ‘
(iv) T Hord s (iv) Karpur Manjari
?‘78? RS B T FHifoQ ¢ Choose the correct cpdc :
(1) #=7 (i) - | (1) Only (i)
(2) (i) 3R (i) (2) (i) and (ii)
(3) (D), (i) &0 (i) | (7 (i), (i) and (iii)
4) (), (i), (iii) IR (iv) _ (4) (i), (i), (iii) and (iv)
82. TONU AR B & s fepam 82. Monthly magazine 'Hariprabha' is
ST ® § published by :
() &M & o=, oo ey (1) Information and Public Relations
A Department ;
(2) sRaeT Wity sz (2) Haryana Sahitya Academy-
(3) =RamT Hwpd s @ (3) Haryana Sanskrit Academy
(4) BRarT & gy s = (4) Haryana Hindi Granth Acadenﬂy
83. f=fafeq & & #19 2021 & ‘55 83. Who among the following is the
Yo ek £ 7 L - - recipient of 'Padma Bhushan' in 2021 2
(1) ST FEM g e (h) Jai Bhagwan Goyal
(2) 9= fe (2) Virendra Singh
(3) TRele fie | (3) Tarlochan Singh
(4) g RiE : | (4) Mukesh Singh
84. BN % Reanfedl @y o Wi 84, The total number of medals won by
2021 7 S T FA v ¥ the athletes of Haryana in the Tokyo
ey Paralympics 2021 are - |
(1) 04 . - (206 . . (1) 04 X2 06
(3) 08 (4) 19 ' (3) 08 4) 19

evel-3/316



gs. BRAMT @ §ar AR o1+ R My

-----------

F F A § aiffe wicRes
Pl T H B

(1) T~gureT

(2) g

(3) 9% -

(@) T foys T

86. e sfaor & wwueh § ¥

Mﬁﬁ%ﬂ@@q:@ﬂ?
(1) o To Tehec

(2) Tl fife e

(3) ﬁo@oéﬁﬁ

(4) TER To THo s

87. Re-g=g eifi #RER & ofmig

s weed fRg de/ciERes
éﬂﬁ@raﬁﬁfﬁﬁﬁﬁﬁ?mw
g7

(1) BUEETE — Uoad A 8

"o

(2) Wl — REr P dw.

(3) Fosrll — Al R &

(4) ARR — S PRy &

Level-3/316

[21]

© 85.

86.

[C]

The Public Service
Commission its

report of the work done by the

Haryana

presents annual

commission to the :
(1) Governor
(2) President

(3) Parliament

=(4) State Legislative Assembly

Who among the following Governors
of Haryana died while in the office ?
(1) B. N. Chakraborty

(2) Ranjit Singh Narula

(3) J. L. Hathi

(4) Sardar H. S. Brar

Which of the following is not truc
about the proposed investment region/
industrial area under Delhi-Mumbaj
industrial corridor in'Haryana ?

~€ﬂ Faridabad — Palwal Industrial
| - area

(2) Rewari - Hisar investment

region

(3) Kundli ~ Sonipat investrﬁent
region

(4) Manesar — Bawal investment
region .

P.T.O. Sy



[C]
s fwmﬁﬁmaﬁq’mﬁ%:

~Wmazmg§

Wﬁﬁ?ﬁﬂmm
B3

G) Tt Wikww  Er @
meﬁmmm
F T

O IR T 3 g o P
A0 A e B 3

89. Friefad % & R o w
E[WWW%E@WQTQT
3w § Y 78 R ?

(1) REH g3 I
(2) SIRed Qo Ho FiHd
(3) IRET To THo
(4) wifted d@ e Fiet

- 90. Fr=fefed & & fee @ SEm
T FHIT & 7

il ST T
(1) Gt ~ g
(2) = ~ T & vEf
(3) AHTE ~ Raftm @
%l.vl
@) T -

[22]

88.

- (1) Conser

‘De ension Scheme'
\pran Vayu Devald P

is aimed to :
ve older trees in Ilaryand

State

(2) Provide financial assistance (o
the non-government doctors in

their old age

(ff Provide economic relief to the

non-government paramecdical

staff in their old age

(4) Encourage plantation of Tulsi -

and Giloya in urban houscholds

89. Who among the following did noft l
serve as the Chief Justice of the

Punjab and Haryana High Court ?
b)) Justice Mukund Mudgal

(2) Justice A. K. Sikri

(3) Justice M. S. Jain

(4) Justice Sanjay Kishan Kaul

Origin of the which of the following ~

rivers is not correctly matched ?

River Origin Site
‘.O/) Saraswati  — Dangushai
(2) Indori — Mewat hills

(3) Markanda — Sivalik hills

(4) Tangdi —  Morni hills

A erfedl

Level-3/316
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[C]

YR - IV (PART - IV)
T s (CHEMISTRY)

r.-ﬁwmﬁm#$mﬁ$mwﬁaﬂaﬁmgﬁm

: Answer the following questions by selecting the most appropriate option.

HiHT qedgey 7
(1) Li (2) Na
(3) K (4) Rb

92 B T W wwE Y
(1) 1, 3-3ererq
(2) 2 -1, 3 e

(3) 2- A~ 1, 3 - HeREH
- (4) A

\

93. O  WIgRNEFIH FH SR Zo dio
SRS SurEf H A q B
HIT R, 99 IAE § ¢
(1) 3-9 AR
(2) 1,2-@%8@@%@3
(3) ST TEaeTaT

4) aﬁéwﬂw

Level-3/316

91. Iodide of which of the following is

most covalent ?
(<1) Li (2) Na

3) K () Rb

92. The monomer of natural rubber is :
(1) 1, 3-butadiene
(2) 2-chloro-1, 3 - butadiene
~3) 2- methyl - 1, 3 - butadiene

(4) Chloroprene

93. When cyclohexene reacts with
bromine ‘in presence of heat and
UV light, the product is :

1) 3-Bromo Cyclohexene
(2) 1, 2-Dibromo Cyclohexane
(3) Bromo Cyclohexane

(4) Bromo Benzene

b | &R




[c] , :
' [24]

=

»
== X 5 ;
AN CdCl 51,0 (S || AgCl(s)| Ag 94. The EMF of the cell : | ¢

&1 # EMF 25°C W 0.7 Volt  cd|CdCh 5H0 (saturated) | AgCl(s)| 4
is0.7 Volt at 25°C . The free energy

change for it is :
(1) 1351 kJ it
(1) 135.1
(2) -135.1 kJ :
' | | . (2) =135.1kJ
(3) 67.55kJ | ) ‘
: 3) 67.55kJ
(4) -67.55kJ
' - V(4 6755k

Frfoiea fee ot o ¥ 95. Which of the following oxoacids of

q-(eﬂwgg f%fq‘ﬁr g7 | sulphur has peroxide linkage ?
(1) H,S0, - | r (1) H,S0, |
2) H,50, | ' ) H,50,

(3). B0, - | | _ “3) 'Hz_Szo;

4) H,5,0, : (4) H,8,0,

Level-3/316




96 Y o B g - 1A g - 0
BT T ofaRr (d) X FftewH 4} (a)

% " ey § A IO
-1 -1
EIGES da?'nr a % 95

.WW-T

(I) bee (a) d= av2

y 5
(ID) fee (b) d‘:a_‘zj_i

(D& & (c) d:fz’-‘

7

I -t T
H @ ©® ©
@ © ® @
3 O @ ©
@ ® © @

Level-3/316

[C]

96. Match the List - I of cubic lattice

and List - II giving relation between

spacing (d) and cell edge (a) :

List - I List - IT
Lattice Relation
between d and a
(I) bec @ dzaf |
(0 fee (b), d = E?
(I11) simple cube  (c) d:%
- Code :
§ W
(1) (a)~ (b) - (c)
@ © ® @
"@ (b) (@) (¢) .
(4) | () () (a)

P.T.O.




(1) CH3 L—CHZ ——CHZ L_CHZB]" =
(CH;), - CHCH, Br <
CH, -CH, ~GH-cH,
Br
<(CH3)3C—Br
(2) (CH,);C-Br <
CHy ~CH ~-CH-CH
2 | A
Br
<(CH;), —CH - CH, Br
(3) CH;~CH, -CH, - CH, - Br>
(CH3)2CH _'CHzBI'>
CH; -CH, —(':'H__CH3 S
| Br
(CH3);C —~ Br
(4) CH3_CH2'_C11H—CH3>
' Br
(CHy), ~CH - CH,Br >

(CH;); ~C - Br

Level-3/316

f
y
/
/

/

The correct order of reactivity.of
- following compounds 1 Sy? reactiop

DS
) CH,-CH,-CH,—CH,Br <

CH, -CH, —(T’H—C'H3
Br

<(CH3);C - Br
‘(}Q) \(CH3)3CT.BF <

CH; -CH, ‘C,'H—CH3
Br '
<(CH3), —~CH - CH, Br

\/(3) CHy -CH, ~CH, -CH, = Br>
(CH3)2CH—CHzBr >

CHy~CH, "C[’HhCH3 >
Br.

R :

]

1w



98. U¥H% UHTES

RCONH,, 3400-
- 3500 em”! % dE & EANT S
TRRiT w8, B0s 8 AREd #XA
W o9 arer A EMid H3m

(1) 3500 cm™
(2) 3250 cm™!
(3) 2256 cm™!

(4) 1650 cm™

Level-3/316
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98.

99.

[C]

Primary amide RCONH ,shows two
between 3400-

on treatment with P05,

absorption bonds
3500 cm_,1

the compound formed absorbs at :
(1) 3500 cm™

(2) 3250 cm™

(3) 2256 cm™

) 1650 cm™

The reaction of benzenediazonium

chloride to

with phénol give
p-hydroxy azobenzene is which of the

following type of reaction ?
(1) Electrophilic addition reaction
(2) Nucleophilic addition reaction

3) Electrophilic

substitution
reaction '

(4) Nucleophilic
reaction

subst_itution




[28]

Eu 1 59 srqeer 7 Rt
h:’;Tl'(:f%:

(1) 477652

(2) 47754652

(3) 417650

(4) 43652

CH3;COOH # pKa 4.75 ¥ of:

TN A9 e s % R o
T & ITH pH B Wy 3

(1) 07 4.75
(2) 4759 14
(3) 3.759 5.75

@ 1d 14

i o=t & b g9 & o
LG A

(1) Nb &R Os
(2) Zr AR Hf
(3) Pd A Pt

4) Mo R w

Level-3/316

\.

it
(=]
Jd

:

Outer electfonic configuration of Eu

in ground state 1S :

(1) 4/76s”

@) 4775d'6s*

(3) 4176s°

(4) 41°6s°

The pKa for- CH,COOH is 4.75.
Hence mixture of sodium acetate and
acetic acid can be used for preparing

buffer solution whose pH is in the

range :
(1) 0to4.75:
(2) 4.75t0 14
(3) 3.75t05.75
(4) 1to 14

Which of the following pair of

elements does not have same size ?

A1) Nb and Os
(2) Zr-and Hf
(3) Pd and Pt

(4) Mo and w

103



s S B auef, e § 3
SRERC SI REGEUE

(1) K,Cro0,
2) KMnoO,
(3) Pb(CH,COOY,

(4) Nay[Fe(CN), NO

"104.

Gﬂ'cnﬂmaﬁ SRy Shry %
(1) e

(2) SRR

(3) g

(4) ﬂ%ﬂ%ﬁm

105. ﬁw%%aﬁﬁﬁﬁaﬁaﬁﬁﬁw’é

 RBC#H oRwA ¥ gRe oor wieoRmEt

H L BN © ¢
(1) faarfm K

(2) fqef= E

(3) feef= B,
(4) e By

Level-3/316
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105.

[C]

103.

—_—n

Presence of $% ion gives violet

colour with which of the following ?

(1) K,Cr,0,
2) KMnO,
(3) Pb(CH,CO0),

A4) Na,[Fe(CN);NO]

104. Bactericidal antibiotic is :

(1) Erythromycin
v (2) Ofloxacin
(3) Tetracycline
(4) Chloramphenicol
Deficiency of which of the following

vitamins causes increased fragility of

'RBC's and muscular weakness ‘7
(1) Vitamin K
\%‘) Vitamin E
~ 3) Vitamin B,

(4) Vitamin B




[C]
[30]

- =

106. fr=fofeg xe H BT A i 106. Which of the followmg.compounim&

R @ ? of Xe is square pyramidal 7. |
() Leo, (1) XeO,
) XeOF, | | .A2) XeOF,
() Xer, - (3) XeF,
(4) XeF, ' B (4) XeF,

107. WwigSfes THaNigE @ fere TR 107. Freundlich adsorption isotherm is

10
ST e fobar Sy & 7 ' : expressed as equation -
m £ | '
0 —=#" - (1) Z=kpln.
, b i x
x - &
.Q);=w; | @ Z=kpr
" ’m |
m 5 |
G) Z=kP 5 L3 Zogpr
_ , x
) lszl/n ) ' ‘\/{4) ‘Ji'—‘kP”n

Level-3/316 By ' L



Rrow, fme- 2, 4-FRTeEE A
TEEOT § A

) e foroer-3, 4-erERia
LIEESIEER|

(2) Bad THUY-3, 4-STEHIE
BIEERICEE

(3)3@%%3@3@31%
% o

(4) TEFARFIIA

dg & AR @
Fofeserse o HOT L AR B

(1) e SAffrar
(2) M- ERER
(3) e s

(4) HVZ af¥sear

1-3/316

[31]

[C]

-108. The thermal cyclization of trans,

trans- 2, 4 - Hexadiene gives :

m Only trans - 3, 4 - Dimethyl
Cyclobutene

(2) Only cis - 3, 4 - Dimethyl
Cyclobutene

(3) Both the above products in equal

amount

(4) Cyclohexene

.The reaction to obtain benzaldehyde

from toluene by chromylchloride is :
(D) Gatterman reaction
(2) Gatterman-koch reaction

V(S) Etard reaction

4) HVZ reaction

-P.T.O.



[C)

[32]
1 " ; KCN , p_A
110, (,(,HS(sz()H__fl_b‘f;_)A___’_(m_)B X 110. C()HSCI—IQOH__II'EL—)A—————H W' y
| e ')C' in the above reaction sequencg
qulqﬁamﬁﬁmiﬁqff@’%: k) : is : |
(1) I .
S : (1) Benzoic acid
(2) B )
UANEH arey (2) Pheny! ethanoic acid
(3) B TR Ufrg - :
(3) Phenyl ethyl amine
(4) THRE-1, 6-Trates . o
S7 i (4) Hexane -1, 6 - dioic acid
111 TSI 1 el T & a9 111. The main product of the reduction of
g1 R ey FRES & S nitrobenzene in neutral solution with
STIIAT 1 & IS § - zinc dust and ammonium chloride is :
(D el | S Aniline
(2) B HEIRR G (2) .Phenyl hydroxylamine

| (3) TfsiieT . (3) Azobenzene
(4) UsiteRdrta | | 4) Azoxybenzene

112. 1, 2-SERINMNT &)1 91 89 a9 112. The number of NMR signals

NMR w, h T R o ' produced by 1, 2— Dichloropropane
ok are : -
o () 6
i 2) 5
o (3) 4

4 3

evel-3/316



[33] [C]

113. Glucose on reaction with bromine

113. TIHE SEH S @ SRR gRT A

114. %“rré#rqé’f T T AR S iR Wi 114. In the lanthanides the spin
WEHE L & TF 9y e W 8 contribution S and orbital contribution
Iqien =@ J W Bl Bl P B - L ‘couple together to give new
Y § TF W BN W e | quantum number J. Which of the
H BT W6 gg ¥ ? following relation is correct when the

shell is more than half full ? |
(1) J=L+S A J=L+S
@) J=L—=8 By =-S5
3) J= S-L Bl =i
115. 9 R %T'ﬂ%g & &9 oM dgd 115. When aﬁ aryl halide is treated with

? i water gives :
(1) n_—%’éfa'—'f : 1) n-hexane
@) TR o (2) Saccharic acid

(3) IR ITRT
(4) AR

i R i colilc | Ll C BIEIR R
fopar o %, o9 75 Ofe A gRafia

Level-3/316

A3) Gluconic acid

(4) Bromo glucose

the very strong basic amide ion in

liquid ammonia, it is converted into

a ST 1 39 SATHRar H "T?ﬂ?ﬁ'ﬁ‘_% : aniline. The intermediate in the
) 3 et reaction is :
. 1) Benzyne

2) Bl FHEEAE :

2) ‘ : (2) Phenyl carbocation

(3) BT HHITA (3) Phenyl carbanion

(4) qF G (4) Free radical

P.T.O



[34]
116, Sy :
T 3T - n hyd
HCl 3§ SnCl, o | 11s. When 3-nitrobenzalde v} e reau:l‘l
. SABT gy A with SnCl, and HCI then y
, product is :
I 2 | ,
(1) 3-Tregsiforer ThieTe (1) 3-nitrobenzy! alcohol
2) 3-
(2) 3-firirfore TehIEre (2) 3-aminobenzyl alcohol
(3) 3-Ur Fifveeree
' ‘ : (3) 3-amino benzaldehyde
(4) 3-SRt amirEe -
(4) 3-nitro benzyl chloride
117 2N,0,(

2 5(8)—;4N%2q(g)+02(g) EL| 117. The average rate for the reaction
sy dw A 2N,05(2) = 4NO, (g) + Oy (g) s
6.79x10™ mol L' ' min™' &, §@ NO | -4 L - °
2 PO ’ 2 6.79%10 " mol/ L'"min™" . then the

ST %l X & : ' rate of production of NO,is
(1) 6.79x10"* mol L' min™' ;

- (1) 6.79%x 107 mot 1! min "~
(2) 2.72x10mol L™ min™" §
\ . - Q"2’6;72“0 *mol L' min™!
(3) 1.36x10™ mol L' min™" )
(3) 1.36x 10 mot L' min-!
(4) 1.69x10 mol L' min~"
10 min (4) ]-69><10"4mo[ Lﬂ'min" .

Level-3/316




ps. O F O ¥ Rew ot @ onfee A
AR v ¥ 7

(1) F~
() SO
(3) NOy
4) cI

119.

CH, - CH = CH — CH, - CH,CN

‘(1)‘AZH (iBu),
Q) H,0

ST Sl @ SEE €

" (1) CHy~CH, ~CHy ~CHy ~CHy ~CN
(2) cH,-cH, ~CH, ~CH,~CHy ~CHy~NH, '
(3) CHy-CH=CH-CHy ~CH,~CHO

(4) CH;-CH=CH -CH, ~CH, - COOH

Level-3/316

[35]

[C]

118. Excess of which ion in drinking

water causes methemoglobinemia ?
() F~

S S0
(3) NO;

4) CI”

119.

—_—

CH, - CH = CH — CH, ~ CH,CN

(1) AlH (iBu), _
2)H,0

The product of the above reaction

| is :
(1) cHy~CHy —CHy~CHy ~CH, —CN
(2) CH,-CHy~CHy~CHy~CH, ~CHy~NH;
(3) cH,-CH=CH-CH, -CH,-CHO

4) CH; - CH =CH ~CHy —~CH, ~COOH

P.T. O.
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120. 2¢HNO, ZnINaOH | o

S i ¥ X}

(1) CeH,NH,

(2) CH NHOH
‘() CeHNH - NH - C,H,
(4) C4HsN =N - C,H,

aaz=12025r'wmeqmﬁamﬁ%
ﬁﬁatrﬁanﬁ'@mﬂ%q?'

o
N
bt

(1) 3o qREr
(2) &g o1g
(3) &9 TaT A1y
(4) Iep
122. WFTT OigeR W A P I
W T B T e &7

(1) P 91 o990 & SHR &
g7 B

(2) RfYv= Sl o Rl
HTAT '

(3) R (n—1)d et ot ey
(4) ®rdt +2 SR oEEr @
F

Level-3/316

- Zn/ NaOH
120. 2CH;NO, ———— > X

X in the above reaction is :
(1) C¢HsNH,

(2) C,H;NHOH

(3) CeH{NH — NH —CgHs

(4) C4HsN =N —Ces

121. The element Z = 120 would be
placed in which family of periodic
table ?

(1) Halogen family
(2) Alkali metals
{3) Alkaline earth metals

(4) Noble gases

~122. Which property of Transition metals

is responsible for complex formation ?

(1) Large size of transition metal
cation

2§ Shows several oxidation states

(3) Absence of
orbitals

vacant  (n-1)d

(4) Due to stable +2 oxidation state




[37]

123, PR g Y g Al O,
RANILIS N P
R S § 2 |
() FeSio,

(2) NayAIF,
(3) Al(OH),

(4) CaO

124. o-BRENH T WS Yceret @

|

OIS 389 IR% § @ 999

& a-TIERERI HAT T R R
T .

(1) ey arfvizer

(2) ST HEaT

(3) UfPT HEa
(4) € g9

125. for=ifofag oReds & dgidt samsy -

H,(g)—2H(g)

(1) 0

(2) T T 8
(3) el &
(4) gedt ®

Level-3/316

[C]

In the metallurgy of Aluminium,
what is mixed with purified 47,0,
to lower the melting point of the"

mixture ?

) FeSiO,

(2) NazAlF

(3) AI(OH),

(4) CaQ

The self - condensation of aromatic
aldehydes wit-h no o - hydrogen in

presence of cyanide ion as catalyst to

o - hydroxy ketone is called :
(1) Canizzaro's reaction
(2) Benzoin condensation
Vg) Perkin condensation
(4) Stobbe condensation
Predict the entropy in the following
change :
H,(g) > 2H(g)
(1) 0
(2) Remains same

£3) Increases

(4) Decreases




1_

(1) 99 @
- (2) Id # gy

[38]

WWWWWWW
%WWWW%W
BT ¥ T B FreRas & @ fow
Frem a8 2 ' |

(3) g frem
(4) HETE PR

SUNC O S B e e
ITRIGT B FANES T B ¥ aix
U A9 o=ilgd BR% FREs @
Ioligs e ™ Y G A F e

WX ST IR A ST &N
(1) 3:1 2) 2:1
(3) 1:1 @32

2N0(g)+(312(g) = 2NOCl(g) &
W K, #OK, D WY e A

(1) Kp_ = K. (RT)
(2) K, = K. (RT)?

(3) K, =K,/RT

4) K, =K, /(RT)?

evel-3/316

126. At c.onstant volume, pressure of a
fixed amount of a gas varies directly

with the temperature. It is the

statement of which of the following
laws ?

(1) Boyle's law

(2) Charles law
A3) Gay-Lussac's law

(4) Avogadro law

Two  electrolytic cells, one
- containing acidified ferrous chloride-

and another acidified ferric chloride

are connected in serjes. The ratio of

iron deposited at cathodes in the two

cells will be :

\H 31 @) 2:1
(3)1:1 (4) 3:2
128. For the equilibrium

2NO(g)+Cl, (g) #ZNOCl(g) K, is
related to K, by the relation :

(1) X, =K,(RT)
+2) K, =K, (RT)*
@) K, =K,/RT:

(4) K, =K, KRT)?



[39] [C]

129. [Co(NH});SO,1Br  * &k | 129. [Co(NH;)s50,1Br and

1t &3

[Co(NH;);Br1SO, B mrm [Co(NH3)s Br] SO, shows which
THEIERT Wi w ¥ ?

(1) NS T

(2) SUGEHIST HHEgEa
(3) S A

(4) a1 FHEFET

type of isomerism ?

(1) Ionization isomerism
«2) Coordination isomerism
(3) Linkage isomerism

(4) Optical isomerism

ot
(2]
(=]

:

T TS B SO g @ e . the incoming electrophile at meta
Rerfdr @ e & ® 2

i & ¥ - T N T 130. Which of the following group directs

position in benzene ring ?

(1) -C,H, - (1) -C,H,
(2) - NHCOCH, | (2) - NHCOCH,
(3) —OCH3 ¥ " (3) —-OCH,
(4) —COR N «4) —COR

131. BrERRE &l H-G1 ITET R 131. Which allotropic form of phosphorus

TeRid war s ? . shows chemiluminescence ?
(1) L4 IR : 1) White phosphorus

(2) T G (2) Red phosphorus

(3) o- I BIEHIE . (3) a- Black phosphorus
(4) P~ HIEHITH i | ~ (4) B - Black phosphorus

Level-3/316 _ ' P.T.,0.



[40]
132. e 3w ‘
, 8 132. The monomers of glyptal are :
(1) B
) . AR BiHfeeeze (1) Phenol and formaldehyde
2) Wi - =
@) (2) Styrene
(3) TRl s o A ory v(3) Ethylene glycol and phthalic
' acid
4 , ,
(4) Wﬂ%“i' W i P (4) Ethylene glycol and terephthalic
acid
133. OF 30 o<1 HA 3 pH & TomT 133. Calculate pH of a weak acid HA, if
BT IR 1 M e & fage a) the degree of dissociation of 1M
qET 10% 8 - solution being 10% :
Hnr (1
(2) 2 2
3)3 | | 3) 3
4) 4 ' (4) 4
134. CH;-CH=CH-C=C-CH, 134. The IUPAC name of the compound :

N6 F IUPAC AT 2 -
CH;-CH=CH-€=C-CH, iz
Y 3 a8 |

(1) ¥-4-89-2-a29
~T) Hexa -4 -ene-2-yne
(2) 1, 4-SEAR ogE-3-44-1-
e 4 g (2) 1, 4 - Dimethy] but-3-ene-1-yne
(3) BE-2-3-4-amE |
(3) Hexa -2-ene-4-yne
(4) St sedr :

(4) Propargyl propene

Level-3/316



[41] [C]

135. Which of the following compounds
RAIERENIRCICING g will show geometrical isomerism ?
(1) 1-@@:{ (1) 1 - Butene
(2) W= (2) Propene
(3) 1-%a@ W= (35 1 - Phenyl propene

4) 2-AR-2-sd A4%) 2 - Methyl - 2 - butene

Hz 5 Pd/BaSO4 4 Hg 5 Pd/BaSO:
: > > A

136. ’ 136
R-C=C-R —

R-C=C-R —]

Naflig NHy Na/lig NH; _

B

In the above reaction A and B are

IR e F A OB wA ¥

respectively :
(1) THIE Yo AR FHIE Lol

; | (1) cis-alkene and cis-alkene

(2) T b & e Twbe

: (2) trans-alkene and trans-alkene

(3) T b AR T S

“A3) cis-alkene and trans-alkene

(4) Foroer TebieT AR FHTH Twb

s

(4) trans-alkene and cis-alkene

P.T.O.
Level-3/316 kb
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1317.

—_—

Dl
W

[42]

0.1IM Ba(NO,), o 3 fora Ve

B 1% 2.74 ¥, 79 Rediew 4
g

(1) 100%
(2) 91.3%
(3) 87%
4) 74%

R T W offrr & o ol
27°C W ¥ & T iR 3 Rex
AT W AR H FuT 3 &
AW F B ? -

| 2C,Hg (1) +150,(g) — 12C0, (g)

+6H,0(])
(1) =7.48 kJ
(2) 7.48kJ
(3) 0.673 kJ

(4) ~0.673 K

HIEHR B, ARaeeaie AR H, &
TB TR A ~3920, — 3800 AR

241 kJmol™ 3. UEFIeFEN
BIZSISTHIT & FHof & ¢

(1) =121 kJmol™

(2) 121 kJmol™

(3) 242 kJmol™

(4) 242 kJmol™

evel-3/316
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=
—_—

e
W

The Van't Hoff factor for 0.1M

Ba(NO,), solution %S 2.74, then
degree of dissociation 1s :
(1) 100%
(2) 91.3%
(3) 87%
(4 74%
What is the difference between heat
of reaction of constant pressure and
that of constant volume for the
reaction given below at 27°C ?
2C6H6 (1) +150,(g) = 12C0O,(g)
+6H 0(/)
(1)-7.48 kJ
<r 748 k)
(3) 0.673 kJ
(4) 0673 kI
The enthalpy of combustion of

cyclohexane, cyclohexene and H,
are respectively —3920, —3800 and
241 KJmol™'. The = heat of
hydrqgenation of cyclohexene is :

(1) =121 kJmol™!
(2) 121 kJmol™!
(3) 242 kmol™
(4) 242 kJmol™



140. T B A w afee A 750% A

q 32 Bt &, 9 amr & ¥ free
SERESH

() éﬁﬂt |
2) 8 e
(3) 16 faFe
- (4) 32 e

: @-Iﬁwﬁ%ﬁ@-nﬁgﬁﬁﬁ
T

@1 g

(A) NH; (i)

(B) CIF; (i) Prefia Rfed
(C) SO,  (iii) T- ey

(D) SF,  (iv) 38 &
W ® © o
M O 6@ @ @
@ @ i g
@ G O @
@ () (i) v 0 -

Level-3/316

[43]

[C]

. 75% of a reaction of the first order

was completed in 32 minutes, what

is the time for its half completion ?
(1) 4 minutes

(2) 8 minutes

A£3) 16 minutes

(4) 32 minutes

. Match the geometry of following -

form List - I with List - IT :
List - 1 List-1I
'(A) NH, (i) See-saw
tB) CIF; | (i1)_Trigonal pyramidal
(C) SO, (iii) T- shape
(D) SF;
Code :

(iv) Bent (V-Shaped)

| (A)" ® (©
OGO G G )
(2) (@v) (iii) &(ii) (i)'
@ Gi) O (v )
@G G

(D)

PITSOL



[C]

[44]

192. VR ® KMno, % w9 s

gﬁzﬁ ‘A’ T ¥ R TUPAC |

(1) R

() Iifeezs

(3) 2-%+ wiNEH ot
(4) ¥ieF o

Rl oA & SuRed & swE @
Tl B, ¥ Hy el § @
fre Fosra/faw & & ?

(1) 9ISt ST9esH e

(2) 3NMparS e -

(3) &8 @1 Afway qgbar . fEm
@ (n+1) Frm

I™(ag) + MnO; (ag) + H,O(l) — I (s)
+ MnO,(s)+ OH (aq)  Sifedieser
e Sl 1, Mo, AR

H,0% i Ggfem afifrar & s
B4 L e |
(1) 3,5, 4 (2) 6,1, 2 ;
(3) 6,2, 4 (4) 4,3,4

evel-3/316
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.
—_—s

Styrene on oxidation with KMnO,
gives compound 'A’, its [UPAC name

is :
(1) Phenol
(2) Benzaldehyde
- U3 2-Phenyl ethanoic acid

(4) Benzoic acid

No two electrons in an atom can
have the same set of four quantum
numbers. This statement is which of

the following priﬁciple/rule ?
~(1) Pauli Exclusion Principle
(2) Afbau Principle

(3) Hund's - rule
multiplicity

~T (4) (n+[) rule |

of  maximum

144. The coefficient of 1‘ MnO,"  and

¥

Ql (aq) +MnO )y (ag) -QH Al — 1, (s)
+ Mn02 (5) iOH (ag) in
balance 1 form respectively are :

(1) 3,54, (2)6,1,2
(3) 6,2, 4 4) 4,3, 4

H 20 in the redox reactlon

[

the




[45]

ﬂi_%ﬁwaﬁqﬁﬁqwaﬁ—{
3 THRE ot 3 @ ™ B @
FEle A g 3 ¥ 7
(1) &
(2) Uepe
(3) Vr=
OESE

FioRes & ¥ -1 a9 a=ee

[
<Y
[=2]

i
iy

3L + 6 NaOH — Na'Cl.Oj +5NaCl+3H;0

ﬁaaaﬁrél‘rsaa@ﬁ:rmmar%w

TE0T At BT S
(1) Wa 1 (2) Ci
3O - 4) H

e TR E
(1) CO 1) o,
3) CH, @) 0,

Level-3/316

8. Prefife 73 Bt T e

[C]

145. Which hydrocarbon on warming

with mercuric sulphate and dilute

sulphuric acid forms carbonyl

compounds ?
(1) Alkane

(2) Alkene

" 3) Alkyne

(4) Benzene

146. Which of the following elements is a

member of Chalcogens ?
(1) Se (2) Br -
(3) 4s (4) Ge

147. In'the reaction :

3Cl, + 6NaOH — NaClO, + 5SNaCl+3H,0

the element which loses as well as
gains electrons is :

(1) Na ) CI
3) 0 @) H

' -7y , .
48. Which of the following gases forms

carboxyhaemoglobin ?

A1) co
" sy €y

2) CO,

4) 0,



[C]

149. {Aieieer & § e e v B 7

(1) TEH
(2) SR Fott
(3) Z=HH

(4) sTaad

150. C,%

o) & fay B ¥

(D TFl o 8

(2) IRl ERCE)

(3) T o X TH ndy
(4) IFT ¥ § Pig O

.[46]

149. Which of the following 1is an

intensive property ?

(1) Temperature
Q/(Z) Internal energy

(3) Mass

(4) Volume

150. The double bond in C, molecule

consist of :

(1) both cbonds

«(2) both © bonds

(3) one o and one © bond

(4) None of the above

Level-3/316
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